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  trees, cont'd  (see handouts)
  search
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graphs vs trees
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search trees



S

A B E

      C

D G

1.  Draw a tree that corresponds to this graph.

search trees

Search problems are often represented by graphs
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depth first search

What is the order in which nodes are explored (assuming a left to right algorithm)?
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What is the order in which nodes are explored (assuming a left to right algorithm)?

breadth first search



(define (search start-state done?)

 (define (search-help queue)

  (if (null? queue)

      #f

      (let ((current (car queue)))

         (if (done? current)

              current

             (search-help (append (children current))

                                  (cdr queue))))))

  (search-help (list start-state)))

Mark the line of code that determines the search method.

Write a new line of code here that changes the search method.  

search

What's the new method?

breadth:  (append (cdr queue)  (children (car queue)))
best:  (merge (sort (children (car (qeue))) (cdr queue))
beam:  (list-head n (merge (sort (children (car queue))) (cdr queue)))

NOTE:  The beam search code below differs slightly
from that in lecture.  Beam search should look at all 
items in the list, then take the best n.  (The lecture code 
just took the best n of the children.)



search


